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Por @ I—URBEICEYRFELS UH— M RYEYOFESIED (N)
¢1 : EREFRH (REEER1/3 \HEER 2/3)
Fc : avyU—bOFREFEERE 0N/md) THET S
Ac : aAVHY—+OI—VEBEEOAKTREERE (M)

B3R EHRZETE Ac DFHE
le : 419 —Fr2K 100 (mm)
D : A Y—rHHEE (FUER) 22(mm)
Ac = 3.14 x 100 * (100 + 22) = 38308 (mm?)

@O-L #R51RFE (RYIFTER)
P.iu= 1/3 % 0.31/730 * 38308

21682(N) = 21.7(kN) (3%2214kg)

43363 (N) = 43.4(kN) (3%4429kg)
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P.o. = D22 AFRE &K 70 (mm) x 100 (mm) % 1. 8 (N/mm?)
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Po2s = P.2L x1.5

12600(N) = 12. 6 (kN) (3¢1286kg)

18900(N) = 18.9(kN) (3¢1929kg)

LREFTEMEELEERL.
HFASHREEP.IX. REATER 12. 6 (kN) (%1286kg) SEHATIEARF 18. 9 (kN) (3%1929kg) &9 5.,
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BEMRIL MREEFTE 9. 74 (kN) (3¢ 994kg)
(HERSZ 4.8)

BEARIL MREEFRTE 26. 0 (kN) (3%2653kg)
(RERXS 10.9)

TARILMERTE 4. 41 (kN) (3¢ 450kg)



